THIS DRAWING 1S UNPUBLISHED. ‘ RELEASED FOR PUBLICATION SEP , 2005. LoC DIST REVISIONS
ALL RIGHTS RESERVED. B
© copvriHT 2005 BY TYCO ELECTRONICS CORPORATION. J 5T 7R SESCRIPTION SATE W T APVD
1 CONTACT COPLANALITY IS 0.1 MAX. 1 Jve 28373707413 0.1 UT, N REVISED 01SEPO9 YH YN
/2\ THIS DIMENSION MEANS CENTER OF THE POCKET. O\ ALEERT Y FOPDEET .
D /3\ M3 TAPPING + BVTP RECOMMENDED TORQUE: 68.6N (7Kgf) MAX. /3\ M3 TAPPING + BVTP #%r b7 68.6N (7Kgf) WTs D
/A FINISH V/NEa
CONTACT: V «m MIN. Au PL. ON CONTACT AREA (V: SEE TABLE) V5o AVEORIUTE Vo am Mt gpo (V: £58)
0.03~0.1 «m Au PL. ON TERMINAL AREA 5-XFWIUFI 0.03~0.1 um Of®o &
Ni UNDER PL. ALL OVER Zu TVTHB > E R 1T
SHELL: Sn PL. (MATTE) ALL OVER Srb FEBoE (DPIHEL)
Ni UNDER PL. ALL OVER Sy TVTHB > & 15T
_— /A SCREW SIZE A\ 25U2 -4 |
/B\ QTY PRINT ON THE LABEL. (EMBOSS PACKING) A\ mEES~vBFEns (EMBOSS f4)
SOFT TRAY
0.76 | M3 x 0.5 70| 1.9 | 46 | 138 |6-23| 46 | — | — | = | = | = | = | - | - WITH TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | ff suger 7y | 9—1903015—4
03 | M3 x 05 |A200| 19| - | - - _ | 455|495|18.3| 0.5 | 44 | 40.4|20.2 | 20 WITH TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | srf syeer o) | 9—1903015-3
0.3 | M3 x 0.5 700 19| - | - - B e WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | ser speer 10y| B 1903015-4
0.1 = A\ 550 1.9 | - | - = — | 335|37.5(9.32| 0.4 | 32 |28.4[14.2| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | sge suter 6y | 7~ 1903015—1
C C
03 | M3 x 05 |B 20019 | — | - = — | 455|495|183| 0.5 | 44 | 404|202 | 20 WITHOUT TAPE WITH FLANGE FULL SMT | (SEE SHEET 5) | (ogp ‘apicer gy | 5= 19030159
0.3 - A\ 5500 08 | — | - - ~ | 335|37.5[9.32| 0.4 | 32 |28.4|14.2| 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | qeg syeey g) | 5—1903015—5
0.3 M3 x 0.5 70| 1.9 46 | 138 | 6-23 | 46 - - - - - - - - WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESZHE&?” 5-1903015—4
| 0.3 M3 x 0.5 |\ 200| 1.9 - - - — | 425.5|49.5]118.3| 0.5 | 44 |40.4|20.2 | 20 WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SEEEMSBHOESEST g) | 5—1903015-3 |
SOFT TRAY
0.3 |/3\ #2.65£0.3 700 1.9 | 46 | 138 | 6-23 | 46 | — - — - | -] - - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | g gugey 7) | 5—1903015-2
0.3 - A 400 19 | - | - - ~ |335|37.5(932| 0.4 | 32 | 28.4|14.2 | 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) (SEEEMSBHOESEST 5 | 5-1903015—1
0.3 M3 x 0.5 70! 1.0 46 138 | 6—23 46 — — — — — — — WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SESEHE&?” 4—-1903015—1
EMBOSS
0.76 - M 400 1.2 | - | - - — | 335]37.5]9.32| 0.4 | 32 [ 284|142 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | gep sppey ) | 2—1903015—2
Q.76 M3 x 0.5 701 1.9 — — — — — — — — — — — — WITHOUT TAPE WITH FLANGE THROUGH HOLE (SEE SHEET 3) (SSSFgHTEFE‘A(Y9> 1903015—-8
0.76 |/ 92.65+0.3 70| 1.9 - - - - - - - - - - - - WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SEEZHTEE/?Y% 1903015-7
SOFT TRAY
B 0.76 M3 x 0.5 S50 1.9 | 54.4 | 120 | 4-30 | 54.4 | - - - - - — — - WITHOUT TAPE WITH FLANGE THROUGH HOLE | (SEE SHEET 3) (SEE SHEET 9) 1903015—5 B
0.76 | M3 x 0.5 70| 1.9 | 46 | 138 |6-23| 46 | — | — | — | — | = | = | = | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 4) | ofr suger gy | 19030154
EMBOSS
076 | M3 x 0.5 [A 200] 1.9 | — | - - ~ | 455(49.5]18.3| 0.5 | 44 | 40.4|20.2| 20 WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 4) | cer sney gy | 1903015-3
0.76 |/ #2.65£0.3 700 1.9 | 46 [1386-23| 46 | — | — | = | = | - | - | - | - WITHOUT TAPE WITH FLANGE | THROUGH HOLE | (SEE SHEET 3) | afr suger 7y | 19030152
EMBOSS
0.76 - /\ 400 1.9 | — | - - — | 335(37.5[9.32| 0.4 | 32 |28.4|14.2 | 16 WITHOUT TAPE WITHOUT FLANGE | THROUGH HOLE | (SEE SHEET 2) | (e speer 6y | 19030151
— v U T M| S | R P N M| LK J | H| 6 | F | E| POLYIMDE TAPE FLANGE SHELL TYPE | CONNECTOR | PACKING PART NUMBER [
/N PL. | A\SCREW SIZE|  QTY DIMENSION PART LIST
THIS DRAWING IS A CONTROLLED DOCUMENT. PR o)y, 265EF2008 -‘ETyco Tyco Electronics Corporaion
CHK 26SEP2005 - Kawasaki, JOpOﬁ
DIMENSIONS: TOLERANCES UNLESS TKIMURA EIeCtronlcs
B: & OTHERWISE SPECIFIER? | APVD 265EP2005 Ng%%
o —R2E LE IS HDMI 19 POS RECEPTACLE ASSY
Tee i maRl SMT SHORT TYPE
A @E;Ei + 108—78180-7 A
3 PLC n APPLICATION SPEC
4p + WAt ERRR SIZE | CAGE CODE | DRAWING NO RESTRICTED
GLES + 55
et e e WEICHT A 5100779(C=1903015 -
CUSTOMER DRAWING R B e R B N

AMP 1470-19 REV 31MAR2000



AMP 1470-19 REV 31MAR2000

N
4 3 2 1 ;
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP ,2005. LOC DIST RE\/‘S‘ONS }
© COPYRIGHT 2005 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J P R DES?R%PT\ON DATE DWN APVD }
|
- SEE SHEET 1 - — — |
|
|
|
D 157 +0.1 g |
RQ.3*0.1 ) }
TYP.(8) }
I | w
= |
REF | 3 |
= —X= f TO ! |
9 o ¥ — = #19 #1 }
] o , L
0.2%0.03 4.75 | — 3 REF \ [9] |
=G - i 052003 |\ l
< ‘ 5 : H - |4.75 2 5 REF 0 }
AL AIARE" ; 10820 s [BlooelxT : ‘
o F |
) | C_ e = 13 95 £0.1 o T (9) o ‘
@2l . o - |
| = | \
. , ! PANEL CUT OUT DIMENSION (REFERENCE) = [ﬂﬂ][ﬂﬂ][ﬂ[ﬂm[ﬂiﬂ[ﬂ[ﬂm[ﬂ[ﬂ[ﬂmm ﬁ@ }
- + |
oI AR 11O nE O O—| |
b NEE | BE |
C | Ll 0 o ! g ~ C |
ga | N Sz I { | 4 ~ @ ;
I 00 e l -+
|
16.2 REF < | S \
| |
|
G0 / \ |
T #19 #1 +0.2 4—¢1.9 \ —
| 0.85 (LAND, BOTH SIDE) 4o. 14.5%0.05 T ;
B 15.7 £0.05 \ }
o~ - 0.08[X ‘
& < - —) Mé I (/M) lo.08[xi | PCB EDGE |
o - =) @& | &9 CONNECTOR FRONT SURFACE }
- [Ce} o |
M |
Al }
418 N I P.C.B LAYOUT (REFERENCE) }
B — 9 <7 SHOWN AS CONNECTOR MOUNTING SIDE B |
0.5+0.05 < 1£0.05| || 1£0.05 TOLERANCE: NON—CUMULATIVE ;
+0.1 +0.1 |
— i 3.6 49 _| }
15.7 | BRASS CONTACT | (3) |
|
PHOSPHOR BRONZE SHELL (2) }
! GLASS FILLED LCP UL94V-0, HOUSING @ |
— ' ) BLACK COLOR —
CONNECTOR: WITHOUT FLANGE THROUGH HOLE TYPE }
n W MATERIAL DESCRIPTION | ITEM |
H e THIS DRAWING IS A CONTROLLED DOCUMENT. |®™ r— - - |
L] [Q\ . .‘,','_::Tyco Tyco Electronics Corporaion |
CHK Electronics Kawasaki, Japan }
L D\MENS\O.NS: TOLERANCES UNLESS |
] $ﬁr[n:mﬁ OTHERVEEQEAS;EC\H APVD N%“%% |
¥ e s — HDMI 19 POS RECEPTACLE ASSY ‘
A REF 1 PLC WA SMT SHORT TYPE A |
1.4 @‘E’g Etg i APPLICATION SPEC |
4 p + W ERRR SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + 2 |
MATERIAL FINISH WEIGHT AB 00779 @:ﬂ 903015 - }
CUSTOMER DRAWING 2g 41 T 2 11N }
|
|



AMP 1470-19 REV 31MAR2000

o
4 3 2 1 |
THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION SEP ,2005. LoC DIST REVISIONS }
@ COPYRIGHT 2005 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J P LTR DES?R%PT\QN DATE DWN APVD }
|
15,7 0.1 — | SEE SHEET 1 _ — | _ ‘
: |
|
REF ¢3.2 0.1
D 15 _ P D |
= < ‘
0. £0.03 | |
+0.1 =
o RO.3 . S |
| TYW | |
@ |
Atiaitadhonnnaspse ] : i \ #19 - ‘
T = |
— e @k@%;’@ 19 ' 3 REF \ ] —
NN /@ N0 _ _______|_______ _ +0.03 ‘\ }
\\I\ N ©| <+ i . 0.3 - | o & REF 0 }
B | ! ~ S [#]0.06[x1] = |
[ \\!\ \\ \! ] | ﬂ ™P. (19) H |
N 0 | To) o) |
7A7|7A7 g+ g ‘ o — \
— ] y 10.8 £0-1 © o f | 1
i | N ! +0.1 ' — Jlr i I M)\ |
— 13.25 Y. + - |
16.2 REF ' 18 J@J ! ¥ ol & }
PANEL CUT OUT DIMENSION (REFERENCE) = 9 | S A |
12 +0.3 b | v o . o & |
C 9+ X o~ | 9 - C
AAY— I © e | © - ;
I M | |
| X |
\ ‘
/ } |
< 4-91.9 \ |
— S (LAND, BOTH SIDE) +0.15 14.5%£0.05 X1 ]
| * +0.2 20.05 |
#19 ! #1 o % | = 0857 ' 15.7£0.05 | |
(@} .
| © &lo.08[x1] | |
X | f M L (T/H> - - PCB EDGE |
E:l ~ 'j % CONNECTOR FRONT SURFACE }
(@] [
o — S i
P.C.B LAYOUT (REFERENCE) }
3 = SHOWN AS CONNECTOR MOUNTING SIDE 5 |
o~ ! TOLERANCE: NON—CUMULATIVE }
& i ‘
o < Bl I S POLYIMIDE TAPE (4) |
: £0.1 £0.1 |
14,5iO 1 | 6 a5 BRASS coNTACT [ (3) i
15.7 | PHOSPHOR BRONZE SHELL (2) i
GLASS FILLED LCP UL94V—-0, \
— | BLACK COLOR HousinG | (D) | — |
! CONNECTOR: WITH FLANGE THROUGH HOLE TYPE e sescrEnon |
:D D: . THIS DRAWING IS A CONTROLLED DOCUMENT. |°W™ = Tyco Electronics Corporaion }
@% %H ‘5:-’,\ CHK gco . K KU \
- X | N ectronics awasaki, Japan |
N D\MENS\ONS: TOLERANCES UNLESS ‘
| B B OTHERWISE SPECIFI APVD Ng%% |
L X 4 mm —RAE — e HDMI 19 POS RECEPTACLE ASSY |
H H 0 PLC +
A v | - 1 PLC B@iRK SMT SHORT TYPE A
EREEEREEEEEEERERE 2 PLC +
it REF [ P ;
1.4 4 p + Bt ERRR SIZE | CAGE CODE | DRAWING NO RESTRICTED |
. GLES + 52 |
MATERIAL FINISH WEIGHT AB 00779 @:ﬂ 903015 — }
CUSTOMER DRAWING e 41 T 311 [N |
|
|
l



AMP 1470-19 REV 31MAR2000

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, N
4 3 2 1 ;
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP ,2005. LOC DIST RE\/‘S‘ONS }
@ COPYRIGHT 2005 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J TR DES?EPT‘ON DATE TN T APVD }
|
1 57 +0.1 - SEE SHEET 1 — — — }
|
D 15REF — $3.2 £0.1 .
” |
= 4’ ‘
|
0.0 £0.03 - [475 }
R0.3 £0- | 3 ;
— /@ TYP.(8) | |
| / I < |
SRR AR A0 8RS T - | #19 il }
' N _ _______|_______ +£0.03 X }
| 1 | _-— = 255 g :
| | | ~ S [#]0.06[x1] S |
_ ! | ! — i ﬂ P, (19) ‘ H |
| 0 | 19) o |
v Ul ; | S | - ?
U | Y o | 106 — 2 | PN ;
. 13.25 0.1  —g t ‘
16.2 REF . N J’ ! _QJ W L |
PANEL CUT OUT DIMENSION (REFERENCE) 3| 9 | & Efo }
W_MAX 5| o . o < ‘
C 12 $0.2 g*03 a N { | 4 NI c
6 I C -+ |
AAYL i ] ¢ | S ;
' |
\ / } }
— P 4-—01.9 +0.05 \ — }
5 (LAND, BOTH SIDE) +0.15 14.5*% [=x1-] ‘
"i‘_ 0'8510. 15_7:|:0.05 \ }
(\] —— [—————————— .
ST 4 0.08|X1 |
s| (T/H) 4oos[x1] | - ‘
M CONNECTOR FRONT SURFACE |
N o 1
o S L
H*. - __;D______ E‘JQ }
© ) |
J © P.C.B LAYOUT (REFERENCE) }
3 SHOWN AS CONNECTOR MOUNTING SIDE 5 |
N | TOLERANCE: NON—CUMULATIVE }
o N N |
H 1 |
< 1£0.05 1 £0.05 POLYIMIDE TAPE (4) ‘
<C —| | |-— — | |—-—— |
£0.1 401 BRASS CONTACT | (3) |
|
3.6 |, 4.9 PHOSPHOR BRONZE SHELL (2) }
GLASS FILLED LCP UL94V-0, |
— | BLACK COLOR HOUSING @ — }
. CONNECTOR: WITH FLANGE THROUGH HOLE TYPE Wi sescrpion o]
(1 ) | THIS DRAWING IS A CONTROLLED DOCUMENT. |®™ r=i Tyco Electronics Corporaion |
L = Tyco Y P |
‘52’[\ CHK Electronics Kawasaki, Japan }
! C\l D\MENS\ONS: TOLERANCES UNLESS |
| X OTHERWISE SPECIFI APVD NQ%% |
| . ] mm —Rax — HDMI 19 POS RECEPTACLE ASSY ‘
] o 0 PLC +
A § H | 1 kb 1 PLG R SMT SHORT TYPE A }
I 2 PLC + |
REF @ E 3 PLC + APPLICATION SPEC ‘
1.4 4 p + W ERRR SIZE | CAGE CODE | DRAWING NO RESTRICTED |
. GLES + 2 |
MATERIAL FINISH WEIGHT AB 00779 @:ﬂ 903015 - }
CUSTOMER DRAWING R T A R IS RN |
|
|



AMP 1470-19 REV 31MAR2000

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, o
4 3 2 w i
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP ,2005. LocC DIST REVISIONS }
(© copvrioHT 2005 BY TYCO ELECTRONICS CORPORATION. AL RIGHTS RESERVED. J T 7R DES?EPT‘ON OATE W T APVD }
|
15,7 £0.1 — SEE SHEET 1 - — — |
|
3.2 +0.1 |
|
g ’ 2
|
|
|
- |
RO.3 $0.1 . = |
TYP.(8) H |
| » i
! |
— — K } |
o S | \
— | 5T02 HloH i —
. o~ n |
. ARG CI I e ;
o~ ; (2 o [
o f | @23 | ~ |
o] 2 | rq_ 0 | g £0.05 |
S|~ . | 3 = — g ‘
" | i | o H 10.8 £0.1 0.3%0.03 | , = |
3 -] N ' e |
7 A S - 13.05 £0.1 $0.06[X1 | . > ;
" ‘ | ‘ ! P, (19) | T - |
jm d T b (T PANEL CUT OUT DIMENSION (REFERENCE) | |
I ! I | |
- |
C 18.2 0.3 S . 5 1 ol
o | =L *
C\i ! N < \
12 +0.2 | © }

M3 PO.5 |
= = 7 W I D | I D }
| N &M | |
—] M | —
I L |
© — g — - S maiis e |
©o| ¥ I I - }
|
2— 14 £0.1 2.9 +0.1 [
H |
ﬁ-. |
) CONNECTOR FRONT SURFACE | PCB EDGE }
L |
" N |
0 ° P.C.B LAYOUT (REFERENCE) |
B S A SHOWN AS CONNECTOR MOUNTING SIDE B
i «© N TOLERANCE: NON—CUMULATIVE |
M 0 | || |
|
L |
| BRASS coNTACT [ (3) |
pt PHOSPHOR BRONZE SHELL (2) }
© |
. GUSS FLIED 1P USe=0 | ovsne | D]
CONNECTOR: WITH FLANGE FULL SMT TYPE |
I MATERIAL DESCRIPTION | ITEM |
(] . [P THIS DRAWING IS A CONTROLLED DOCUMENT. |™ -‘ETyco Tyco Electronics Corporaion |
:3 C: e Electronics Kawasaki, Japan }
| || DIMENSIONS: TOLERANCES UNLESS ‘
B % OTHERWISE SPECIFI APVD Ng%% |
| mm —RLE HDMI 19 POS RECEPTACLE ASSY |
. 0 PLC + PRODUCT SPEC ‘
A | 1 PLC WRRR SMT SHORT TYPE A
@E S hic : APPLICATION SPEC |

[l 3 PLC +

4p + Enfit i@ A AR SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + e |
MATERIAL FINISH WEIGHT AB 00779 @:ﬂ 903015 — }
CUSTOMER DRAWING 2 41 T 5 011N |
|
|
|



AMP

1470-19 REV 31MAR2000

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, N
4 3 2 w ;
THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION SEP ,2005. LOC DIST REVISIONS }
@ COPYRIGHT 2005 BY TYCO ELECTRONICS CORPO1R38301;L R1GHTS;ESE1RVE;DC')301 E 5 E 903075 J T R DES?EPT‘ON DATE DWN T APVD }
- b - - ’ - - ‘
/A g 401 5—1903015-5, 7-1903015—1; AS SHOWN | e T - B — }
|
4 £0.1 D }
+0.1 ﬁziow S 5—-1903015-3; AS SHOWN 5—1903015-9; AS SHOWN 9—-1903015—-35; AS SHOWN }
&7 .0 " (SCALE 1:1) (SCALE 1:1) (SCALE 1:1) |
B B ™ }
4 * wwwwwwﬁ }
B | ?
\‘ i i \\ |
- x < —
J [} [} ) O J— R ‘
// ‘—L i = 1 i |_/./ -LHA_ é_ }
[ i | == . ( s| = ‘ }
‘\ 1 | 1 \‘ H 4 ‘ |
‘ ___i____ I____I__ ______}_—_ © T ! / | / |
\ | L 6000000060000, %HHHHM# 0600006060000, }
\ | %ZE%E \ ags! DETAIL A DETAIL A DETAIL A }

| | ! J + |
Ranlinnewk - - -
I 1 |
| / | \
00090 0-010-0-0(r=— =3 ™ = c
|
DETAIL A gREF |.5*0 B—B B—B B-B }
|
- 1905015—-3; AS SHOWN }
\ (SCALE 1:1) ‘
o T | —

(@]
I Q |
5 é ASASaAasaEasay ;
| | \y |
! J
56 1 :
I |
5% | 1
0% - 9380+5 SEE DETAIL A ! / 5 }
- 6600000060 000) }
i R A\ DETAIL A ;
—+--——-—- 0000000 -
i - \V,D] s /VEEDING THE COVER TAPE: 300 MIN LABEL DESCRIPTION — 1
NOT INCLUDE EMPTINESS POCKET % _ |
¢80 1 ( ) gYTgQ *Pélz-s *—1903015—* PET COVER TAPE }
PLASTIC REEL PELLING ANGLE: 165°~180° D/C: PS CARRIER TAPE |
PULL OUT DIRECTION PEELING STRENGTH: MADE IN CHINA }
~ 0.1~0.7N (300mm /min.) . PLASTIC REEL —
CARRIER TAPE MATERIAL DESCRIPTION }
A SEEEE THIS DRAWING IS A CONTROLLED DOCUMENT. |P™ -"::ETyco Tyco Electronics Corporaion |
LABEL CHK Electronics Kawasaki, Japan }
DIMENSIONS: TOLERANCES UNLESS
B R OTHERWISE SPECIFIER?  |APVD NQ%% }
mm - *ﬁ‘i’z% — " HDMI 19 POS RECEPTACLE ASSY ‘
+ 0D |
|.400 MIN._| WITH PRODUCT CHARGE_|_25 HOLES MIN. RLC i SMTSHORT TYPE A
I QTY: T PCS @E 3 PLC + APPLICATION SPEC |
4 p £ AT & AR SIZE | CAGE CODE DRAW\NG NO RESTRICTED }
GLES +

MA&}E@AL F\;\Ji\JSZH WEIGHT AB 00779 @':'W 903015 i i
CUSTOMER DRAWING R T ST I RN |
|
|



THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION SEP ,2005. LOC DIST REVISIONS
(© copvricHT 2005 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J 5T TR DES?EPT‘ON SATE W APD
1903015-2, 1903015-5, 4—1903015—1, 5—1903015—2, 5—1903015—4 S E—— S
8—1903015—-4, 9-1903015—4; AS SHOWN
D D
0
3353
1 Ox 45" A\ 54%0.3 543 REF I\ 4,03
A g_p7%05 20.1*0-8
SEE DETAIL C

|

|
P
=]
L1

B> g 0.3
| \
>Ps< |

n = I — I
1l
o ] B | )
o , -
' — DETAIL C
o - I :I[ 0[] (SCALE 2:1)
H: i
N | -
| 0 | — |
ol :f 0[]
o
H
k =
S e = e E wn CE e E e C R
B B
MATING FACE
DIRECTION

\ ===
B = PS TRAY -
:%jﬁ— MATERIAL DESCRIPTION
| THIS DRAWING IS A CONTROLLED DOCUMENT. [P Tyco Electronics Corporaion

£ Tyco

I
S CHK Elect i Kawasaki, Japan
— 5 \ DIMENSIONS: TOLERANCES UNLESS eclronics
/_[[ \ BAL: R OTHERWISE SPECIFIED: APVD NAvE
¥ = \ o pLe B = o oT SPEC HDMI 19 POS RECEPTACLE ASSY
A ‘ T PLC BRI SMT SHORT TYPE A
/ @g 2 PLC +
3 PLC + APPLICATION SPEC
DD 4 p £ W ERRR SIZE | CAGE CODE D%EAW\NG NO RESTRICTED
MATING FACE — OLES + 2
DIRECTION (SCALE 2:1) il i A 5 100779(C=1903015 -
SCALE SHEET REV
CUSTOMER DRAWING rg 4 7 oF 11 N

AMP 1470-19 REV 31MAR2000



AMP 1470-19 REV 31MAR2000

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]
4 2 1 |
!
THIS DRAWING IS UNPUBLISHED. RELEASED FOR PUBLICATION SEP , 2005. LoC DIST REVISIONS \
o !
© COPYRIGHT 2005 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J T R DES?ETPT‘ON DATE W T APVD }
!
1903015—4; AS SHOWN - SEE SHEET 1 - - - }
!
D D |
0 |
3353 |
10x45° N 5 *03 043 REF A\ 49%0.3 |
— 20.1%08 |
!
SEE DETAIL C }
] ) — | | \
S |
H !
2 |
!
/A |
!
] :
: :
<2 |
+H
o |
o L & ﬂ] |
|od |
o

C N ——-— C }
L (DETAIL C) ‘
SCALE 2:1 |

*
I ] ] }
(o)) — |
N \
N ~ L L
o)) ] !
1e} M \
o !
H \
z !
!
/A |
E— !
!
!
!
B B
!
!
MATING FACE |
DIRECTION }
: !
!
w !
N !
— ‘ l/' AI‘ PS TRAY — }
V MATERIAL DESCRIPTION }
4 THIS DRAWING IS A CONTROLLED DOCUMENT. |o™ = Tyco Electronics Corporaion }

= Tyco
CHK Electronics Kawasaki, Japan }
1 DIMENSIONS: TOLERANCES UNLESS [
. B OB OTHERWISE SPECIFI APVD NQ%E‘ |
\ mm A HDMI 19 POS RECEPTACLE ASSY |
0 PLC + PRODUCT SPEC
A 8 \ 1 PLC HaRk SMT SHORT TYPE A
| (@} E 2 PLC + ‘
3 PLC + APPLICATION SPEC
/ 4B + At & ARR SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + &2 |
MATERIAL FINISH WEIGHT — ~

MATING FACE D—-D i e A 5100779(C=1903015 |
!
!



<C
M m -
N >
c - o\ s
o =
> : —
= | & g -
[ | |
— 2 w -
L
) .m % o
| O
| 24
& || | E m
= | Am | Am |
[=) | m | T | |
S R -m m! p o .
o — o ﬁ _D‘M 5 -
=% <] Q 2 o
= 0 m o T o M@
m : o M |E
(] B 0 g
G I i
= X = c S
— T |
<
: = mﬁﬂv
2 8| o W O
: - 2 g O
= n 4
<5 : E
—< : ¥
| - o S
awm :
~— yl
="l -
n - H
i i
| | =z
DR |
> "N
| =
<
o
()]
O
- | Dm
E E Nm M
| & om S
| c% \ 5@ \ |= 5
| 2m \|2% 5 v
%) o WDD Pm O =
= a g
2 |5 %
x
=
| T
P | = sy H
+ | WW
| % Ssﬁl I +H
| Sug H H
— N \ s M&MM )
) D ]
D & &W SHFA
| e |5 spedvyly
& [agNa Z
| @)
O
<C
- %
@) mﬁm
W %mm
< Y )
5 ° <
()] a 2
Ea
M =
T
N A b
pd
wo
Ok
(@)
T
o
O
=
T
7& <
- T
0 . \\
g o™ & |
[q]
P, __/ “ | [ | | | _ AAI V
[, [q\} N [ _ _ = -
| 3 : | Th A h -Hn‘nﬂ_ﬂ! h
i THh AT R -E- -E i
— RUDE
: -f “l.fﬁu\ﬂfﬁ -
: ™~ . E | lﬂ—
| 2 [ ——
E | |
> _ |AA
=z @ 9
W & A j = ||l | : |
: = §iWign WigyWignw:pn e Eﬁs g
] T | :
I ERSEERE -ﬂ_!a | _ _U._
x |x !EI E _ _ _ DA
= - _ _ " _ _ C
B z S _ SNNNNNNNNN /cw
5l = fl E
H N O | T
v (@) |
5l T ;
| o S /
m 3
8l N o |
o < o =i |
@ .., L~
5l o ﬁ CU
m_ e T
| - C¢—9 R
E S'0F A :
| =z
of O
Al . _H
(@]
. <C
. % 5 _ Q¢ :
m g - = 9Ly 13y
— S .
: : = [coF < |
1 ; = cee
) 0 : |
2| gl < N
=3 5 N
AR w B
a w IS
(0))
gl 2 :
[

1470-19 REV 31MAR2000

AMP



O M <C
M
= A —
O
D = o \| 2
= | ik :
: x| x 2 _
O =
N : ) m
= _ _ . ol s 4 2
= N m g :
- /o e W 7 M) i
: T o _ e |
a (V8] 1 ) ] j . 3 s W 5
| | | il | ol e -
0 , F I e T I NEERE: :
< ._‘m“,_. __\‘mm,r_—.._‘m“._, ﬂ‘mr___ (gl _\I__ Ir___ ] |5 m 5 _
— - |\.._|F/||\L| N I 135 . & W ol %
; _ _ _ _hF _ Yoe| ¥ X O |4
a_u i g 1S A 2L A gL A I s > lux
>— = - = | ] g o 3
— | : ’ O :
(@] . N
N . x
O kT 7, kT " o W_H_r/:
2 5 n ] ] ] - M g
5 5 _ I “ “ 1 | R ﬂ .m m : AWOJMV
% ’ ) . ﬁ ﬁ (5 g ™
=" o (i b ; e 2
: : | ._ﬁ [« 7] 5] O
f 00 3 S
d o - ! _ ' _ —H —WH
Te) i
| i L ) \ " m —H —H _cc_ wie ﬂ 5
M > 2 o
i ; e Hﬁ ﬁ ﬁ
o~ < )
- = = w
T
i <
L I :
: ﬁ ﬁ ﬁ &
2
i i
(@]
m M ﬁ ﬁ 5\ (B8 =
=
P o\ (5w \ [z ||
< (g 8B \zE \[8 ([ D
I T (e 1z 1 1Es \Es g |3
T .
: = ..
D =
= v +
O S
: - o SW&
L > e Cw +NHHH
> - N O
~ o 243
L x
= - wo
= m < m WW T S%L
_ /_ul_l_\ > > x © HHPPP&N&
: | _ <C Lz | ocame b
i o o il o
+:/. — = &)
o N 3
N M .
" @) mﬁ
= zak
= o
Ly
5 |3 .
= =
M)
o
o
o
a
(ol
7 -
&
>
5 |5 om | B I < | B
z [ ol % N - .
g = < I > ] 5
e M| < ‘
o o L )
_ & . Ymnv
o B .u|.|
m M J I L
2 | MY e WS | MY _
5 I 1) ([ I |
: - 1 1 f m
: m ] ] 1 ] VI \
: Y
HE: ot B ERT v %
Gy | MO 5
[} _ .
z o
s PENPAN
L
L
: 5
m wo
D ’ ngj,
| : = T
: s =
: ()
2 | o < M :
z o T
: =
2|5
Il
14 o
o o
B (&)
® . -
O
o |

1470-19 REV 31MAR2000

AMP



,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]
4 3 2 1 |
THIS DRAWING 1S UNPUBLISHED. RELEASED FOR PUBLICATION SEP , 2005. LoC DIST REVISIONS \
o \
© copvriGHT 2005 BY TYCO ELECTRONICS CORPORATION. ALL RIGHTS RESERVED. J F T TR DES?ETPT‘ON DATE VN T APVD }
\
- SEE SHEET 1 — — — |
\
\
D D }
\
2 MAX \
\
\
CONNECTOR }
WITHOUT FLANGE TYPE \
\
\
— —
R o *
|| | \
O a F = o e |
> - \
N O i ﬂ. | !
| T I |
\
\
\
\
\
S MIN }
\
\
C C }
SCREW }
x 2 MAX |
EL& |
| CONNECTOR —
I WITH FLANGE TYPE |
\
\
L
] N 4 |
M [€e]
; — p— = }
] \
N | 11 |
/I I }
\
B B
\
\
o MIN ‘
\
\
\
\
MATING CONDITION (REFERENCE) }
(SCALE 2:1) |
] I
\
\
\
THIS DRAWING IS A CONTROLLED DOCUMENT. |™ = Tyco Electronics Corporaion }
CHK = Tyco . |
Electronics Kawasaki, Japan ‘
D\MENS\ONS: TOLERANCES UNLESS [
B : B OTHERWISE SPECIF APVD NQ%E‘ |
mm —HRAE HDMI 19 POS RECEPTACLE ASSY |
0 PLC + PRODUCT SPEC

. 0 P EE T SMT SHORT TYPE A
@E 2 PLC + \

3 PLC + APPLICATION SPEC
4B + At & ARR SIZE | CAGE CODE | DRAWING NO RESTRICTED }
GLES + &2 |
e o WEIGHT A 4 100779/(G=1903015 ~ |
CUSTOMER DRAWING o 41 T e 11N |
AMP 1470—-19 REV 31MAR2000 }
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, |



